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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed: 1x7=7

RorriE Foee Rems Oes [a ¢

(a) ‘Assessment Year’ means the period
starting from 1st April ending on of
the next year. (Fill in the blank)

“TpRT 3T 9 xR R eRa aite e
> OifiTd WITE 2 W1 51701 I2T SIS
% AT | (A 3T oFe 70)
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(b) The year in which income is earned is
known as Assessment Year and the
year in which it is taxable is known as
Previous Year. (State whether the

statement is True or False)

RaEESCAER RS RUAS SR GHECEESARIS
T Sy A6l I9© I W Ol 279 TR
@RI (G 9% (F 937 OEd 79)

(c) Under the Income Tax Act, 1961, what
is the status of Dibrugarh University
as a ‘Person’?

IS Wiz, 1961 SR, Ui Zpitst [Basre
RfRvieTs v B = ¢

(d) Tax liability of an assessee depends
upon his/her residential status.
(State whether the statement
is true or false)
O FICAIST PET I (S6 I FTRIT
B 8oge FST FF|
(Cfeehr o% o Jo7 Gy 791)

(e) Agricultural income is taxable under
section 10(1) of the Income Tax Act,
1961. (State whether the statement

is true or false)

Fee oiE, SEF] W 1961-3 10(1)
(RIS I = |
(Sf&ht ©F 7 95% Gy 79)
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(f)

(9)

Section 48 of the Income Tax Act deals
with income that is exempted from tax.
(State whether the statement

is true or false)

SIS SN2 491 48 m?@ﬁwaﬁ—@ﬁr
e s W |
(Cf&hr ©a (W 95T G F9)

Agricultural land situated in a rural
area in India is a Capital Asset. "
(State whether the statement

is true or false)

| OREIES AN GRS TRFS FRSM e

TS o |(CfSeh) ©F ( 8% GEd 391)

2./ Answer the following questions : 2x4=8
weto Tl ePtIiR] Oed ol ¢

(@)

)

Explain the meaning of long-term capital
gain.

- AR e e e g 1

State the meaning of uniform previous

- year as per the Income Tax Act, 1961.

L S iR 1961 SEFSK1 uﬂtﬁﬁoﬁa@ﬂ%‘a

s &7 |
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(c) Define ‘Assessee’ as per the Income Tax
Act, 1961.

ST 2 1961 SR T JTE'T AR
ferin

(d) State the meaning of income.

SR o T |

3. Answer any three questions: 5x3=15

fRicicat fofaby ey Be] foval ¢

(a) Briefly explain various heads of income.

iR R[fen Frem@r st [ 9|

(b) Explain the manner of determining the
residential status under ‘resident and
ordinarily resident’ in India.

‘U R AlRTS AT YO IR
e Afa sar “=fs e =11

(c) Explain the meaning of ‘income from
, other sources’ as per the Income Tax
Act, 1961 with any three examples.
1961 HR WK O3 PR S TR
] (N ST S PIYT I S TR R
folaby Trize |
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- (d) Mr. Anil Barua is the owner of a house
property which is let out by him at a
monthly rent of Rs. 10,000. The
particulars of the house are given below :

. =i e 7331 o1 w1 Wifes RS B e
10,000 BFIe ©iel e | S0 o7y Rager Tz
ICEG T

Municipal *

Valuation (MV) Rs. 1,30,000 p.a.

(TR IR

Fair Rent (FR) Rs. 1,10,000 p.a.
CHNRIAII)

Standard Rent

under Rent Control
Act (SR) Rs. 90,000 p.a.

oivl WEEd w2
e Aaie ool

Fire Insurance (‘ﬂfﬁﬂl) Rs. 600 p.a.

Municipal Taxes Paid 10%
CTIIR STy |

Determine his income from house
- property for the assessment year

‘302122, 5
| 2021-22 3R FERTN 71 AR e o
IGRiG S
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(e) For the Assessment Year 2021-22,
Ramesh is non-resident in India. From
the information given below, find out
his income chargeable to tax for the
Assessment Year 2021-22:

202 1-22 &R 711 AR IC SITe GTH
ST | B e M ©UF o[, 2021-22
= 1RT 391 @ (9eI T Sy [efg 51 -

(i) Royalty received by him outside
India from the Government of India
Rs. 17,000

TS 5D o) Sied JifEe o1 o

(i) Technical {fees received from P. Ltd.
(an Indian Company) in Germany
for advice given by him in respect
of a project situated in Dubai
Rs. 2,40,000

T2 SRFS G5! A I B e
@ P. Ltd (95! SO (@F=i=1)-F 2
Gifre efie 2gfeTe SRe)

(iii) Income from a business situated
in Sri Lanka (goods are sold in Sri
Lanka, sale consideration is
received in Sri Lanka but business

is controlled partly in Sri Lanka
and partly in India) Rs. 1,40,000
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ATHS SRS AR #] W (ATH

7 RE o9 = o9 Alerzices, [Raewyw.

g W, T8 gIw g s @

iFFSIR AFR A P HHTOIE
- ORes 7R | :

(iv) Income from a Dbusiness
connection in India (it is received

outside India) Rs. 3,17,000

SIS FG IS AP JIATL 2 AN
oY (Sied difEte &A1)

4. Answer any three questions: 10x3=30
farret fofabr emR Te fori

(a) What is a capital asset as per section
2(14) of the Income Tax Act, 19617
Describe the procedure of computation
of long term capital gains as per the
provisions of this Act. 5+5=10

| IS SN2 1961-F 4@ 2(14)] O oA
e & 20 ¢ T wizas Ry SR Al
TEYA S fEiRd oafs ada =)

(b) Sitaram (age 45, resident) is a salaried

employee (salary being Rs. 40,000 per
. month). During the previous year
... . 2020-21, he makes the following

investment deposits or payments :
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TSR (IAF 45, AT ) @& ([@OACSIT

IR (MEA wIwD 40,000 T31) 1 2020-21
ST 7S (D33 RNt Tl A VAR ToTo

e v wifes

() Life insurance premlum (policy
taken in 2009) on the life of his
married daughter: Rs. 6,000/-
(sum assured is Rs. 20,000)

(i) Life insurance premium (policy
taken in 2011) on his own life:
Rs. 2,700 (sum assured
Rs. 60,000)

(i) Life insurance premium (policy
taken in 2011) on the life of his
. dependent sister: Rs. 10,000

(iv) Contribution towards recognised
Provident Fund i Rs. 9,000

(v Contribution towards public
provident fund: Rs. 1,30,000

(vi) Repayment of loan taken from LIC
for purchase of residential house
property : Rs. 30,000

(vii) Contribution towards notified
equity-linked saving scheme of UTI
(1.e., MEP 2021): Rs. 14,000

Compute his Tax liability for the
Assessment Year 2021-22, assuming
that his income from house property is
Rs. 2,28,900 10
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() GRS 3R (2009 5 @R ($eq
faifZet =" A 6,000 B (FgS
& 20,000 53)

(i) TR AR SR/ (2011 56 TR
fefimm 2,700 Bt (S =1
60,000 531)

(i) FEFMe SR AE@ S (2011
5o (=l) fafsmis 10,000 S |

(iv) Jpe o7y R A 9,000 B

(v) Public Provident fund-¥ T3
1,30,000 5) '

(vi) I P2-7ifG [fieq @ LIC
o TR A9 «ifReaiy 30,000 S

(viy) UTI-X Notified Equity-linked Saving
Scheme (MEP 2021)-3 3it3
14,000 B3

(O\8T ZI7I& #1F1 =W 2,28,900 5t 4f{ee,
2021-22 N=RT 39 AT (S8 -39 [efy
S

(c) From the following Profit and Loss Account
of Sudesh Bhosale (Age 45 years; resident)
for the year ended on 31st March, 2021,
ascertain his Gross Total Income for the
Assessment Year 2021-22: 10

O™ (ST (I 45 IR, A 31 W6
2021 ©IfIYe @] IZIIR TeTe Al -
IO ZpIe o’ ($8% 2021-22 R

A & ww A =1 e
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Particulars Amount |Particulars Amount
() (Rs.) (=) | (feaa) (Rs.) (v=)
Salaries 26,800 |Gross Profits 6,91,000
) T A
Bad Debts 44,000 |Commission 36,600
a3 |
Prepaid Rent 4,000 |Brokerage 74,000

ave el
Insurance (JH1) 1,200 |Sundry Receipts 5,000
General Expenses 52,000 fafay enfey
YRS AqH Bad debt Recovered 22,000
Salary to Sudesh Bhosale 1 ,02,000 |(earlier allowed as

deduction)
%%T’m TR 2 Ta
Interest on Overdraft 8,000 |(WITS Foq ()
Hfgadq 894w ™ Interest on Debentures 76,000
Interest on Loan to wife ¥I7a9 69T I
of Sudesh Bho 84,000
A (OPTER AR A/
893e fral 1o
Interest on Capltal of
Sudesh Bhosale 46,000
™ (OPIER qaw
BTG 7S '
Depreciation 96,000
GIFY
Advertisement Expenditure 14,000
Reom v -
Contribution to
Employees’ Recognised
Provident Fund 26,000
RICI e ;
il
Net Profit 4,00,600
S S
Total 9,04,600 |Total 9,04,600
10




Other information:

] < ¢

(1)

(1i)

(iii)

()

(v)

The amount of dcpreciation allowable is
Rs. 57,000 as per Income Tax Rules

e SR SEforisy sewas [

57,000 Bl

Advertisement expenditure includes
Rs. 3,000 being the cost of permanent sign
board fixed on the office premises

Il SIS S FE TR (3 @A) 7]
3,000 5= Reio 453 TB89e (T2

Income of Rs. 3,08,700, accrued during the
previous year, is not recorded in the Profit
and Loss Account

fR51e I=7 (BIaTe ©ge oW 3,08,700 5! &S- (AT
fZpiofe TE$E (TRl AR '

Sudesh Bhosale pays Rs. 15 000 as

premium on own life insurance policy of
Rs. 70,000

70,000 SR e Siew S #iffoI woigs o
CSPTE 15,000 536t faifsans (I =6(%) f2prest s
facx

General expenses include Rs. 12,000 given
to Mrs. Sudesh Bhosale for purchasing a
gift for a marriage party of a friend’s
daughter
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GG TR IR [RAR I THYT FA IR AR
Ao ot (oS Al 12,000 51 AR 4969
ES TS (2 SR

(vi) Loan was taken from Mrs. Sudesh Bhosale
for payment of arrears of income tax

S T COITER #A=1 4l (FTR1 Cafeet G SRR
o AR AW

(d) Briefly explain the basic rules governing the
deductions under section 80C to 80U of the
Income Tax Act, 1961. 10

HUFE W3 19619 491 80C< 2”1 80U TFiN®
O TS GBS 61 IR A Hi 41 |

(e} Explain the process of setting off of losses
and their carry forward as per the provisions
of the Income Tax Act, 1961. 10

RIS B2 19619 RYPTE SAR - (@Tanieg
setting off Si% (AW carry forward< 2&o
I 9

(f) Write short notes on the following :

5+5=10
OoTo AT 8o9© 59 (GiA forall
(i) On-line filing of returns of income
SRR oA Sz Mifese

() Tax deducted at source
TGS Foq | 9
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